H(IIT)-Economics—G—4/Set-1
2017

ECONOMICS — GENERAL
Fourth Paper
Full Marks -~ 100

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks
Group - A
(Marks - 50)
Unit ~ 1
1. Answer any five questions ; 2x5

(a) State two characteristics of less developed country,
(b) What is meant by Unbalanced Growth?
(c) What is forward linkage effect?
(d) What do you understand by gender inequality?
(e) State the rationale of development planning.
(f) Mention any two functions of International Monetary Fund.
(g) What do you mean by disguised unemployment?

Unit - 2
Answer any two questions

2. (a) Discuss the sources of capital formation, 8
(b) Critically explain the Balanced Growth Theory. 12

3. (a) Mention the causes of gender discrimination in less developed
country, 10

(b) Discuss, in detail, how the women are subject to discrimination in
the context of economic development. 10
4. (a) What is foreign aid? 2
(b) Discuss different types of foreign aid. 6

(¢) Discuss the role of foreign aid in economic development of the less
developed country. 12
5. Write short notes on (any two) ; 10x2

(a) Big Push Theory

(b) Economic growth versus economic development
(¢) Role of technology in agriculture

(d) Foreign direct investment.

Group - B
(Marks - 50)
Unit - 1
(Marks - 25)
6. Answer any five questions :
(a) Give two arguments in favour of free trade.
(b) Define 'production possibility frontier'.
(¢) What do you mean by specialisation?
(d) What is meant by devaluation of exchange rate?
(e) What is gains from trade?
(f) What is unilateral transfer? Give example.
(2) Distinguish between visible trade and invisible trade,
(h) State two advantages of export promotion.
7. Answer any one question :

(a) Graphically discuss the economic costs of tariff,

(b) Distinguish between current a
of payment.

2x5

5x1

ccount and capital acconnt of balance
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8. Answer any one question : .
(a) Define balance of payment. Discuss different components of balance
of payment with a suitable example. ‘ .
(b) Explain the comparative advantage theory as a basis of international
trade with example.
Unit - 2
(Marks - 25)
9. Answer any five questions :
(a) Define attribute with example,
(b) Define Median.
(c) Mention two disadvantages of sample survey.
(d) What is meant by frequency distribution?
(e) Define ogive.
(f) The arithmetic mean and median of a distribution are 40 and 45,
Find Mode of the distribution.
(g) Mention any two measures of dispersion.
(h) State two uses of Lorenz curve.
10. Answer any one question :
(a) What is meant by measures of central tendency? What are the criteria
of a good measure of central tendency?

(b) Draw a histogram to represent the following frequency distribution ;

Income 11-15 16-20 21-25 26-30 31-35 36-40
(Rs.)
Frequency 4 13 22 33 12 6

L1. Answer any one question :

(a) The number of runs scored by cricketers A and B during the test
series consisting of 5 test matches is shown below for each of the 10 innings :

Cricketer A: | 5]126|97|76|112]89 [ 6 108] 24 | 16
Cricketer B: | 51| 47| 36[ 60[ 58 |39 441 42 |71 | 50

Find the mean and standard deviation of individual scores of both
the cricketers and compare.

(b) (i) Mention two advantages and two disadvantages of standard
deviation (S.D).
(ii) The mean marks of 100 students was found to be 40. Later on

it was discovered that a mark 53 Wwas misread as 83. Find the corrected mean
marks,

10x1

2x5
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